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AL 55 G oK i R AR RS [ B9 02« 208 i S0 B M g A R OE TS AL AT A 3
PATHY A2

5.1 EEH#EiR

5.1.1  FER e SRk

SVE S U 48 R 1) L g e 58 TEAT RE A R 6 R A A 3R SR D IR 1 — R B0 T AT Y 9
Ao TR S AR 2 BRI AT S — o LT A A TE A BRI R] P A i 5K
0 i t AT AT A e BT AT R Rk

SR AE T B AR SOk TR R R B B B R B 28 ) (TR 5.1 () FICLFE AR
(5.1, FilR LT AR ) — 5 45 7 N GE 5 R R 28 /N AR T
R F R RRVAY T S A e A A < R S 5 0 R AW DK QR T N D < R
BEIBEA . BARGEE) R ERE) eRCT B RS %) JE
BT P ) s B T BRIk,

ARSI JE algorithm, J -/ 9 2 A T 822 K al-Khwarizmi (L B ) -
FETCHMD SR BER AL R T RRI . 7 IR B B A R b WOL AR B 90 O N 2
L N TR R

5.1.2 FEEHE

CRFNUR I i S SR (T
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(a) (AMELZ) (b) CFLEEAK)
F 5.1 (JABBEZFCILERER)

1. BN

— NEEWFA 0 DL ER AR, BTE 0 N A RIS EE AR B E W T WA &

2. HidH

—ANEENA AL B R R R R RS R AR EZ L
=X,

3. M

A B 6 A 0 A TG I SC L BA L B — A IR A A DR R X AN BE S I T L A RE
A SCME S DA TE B4 v 10 S B AT 465 SRS B b 2 5 R B R R R SEPRIs AT A R R
T 5 1Y

4, HRHE

L AR A BRAS 25 TR N 58 AT 55 .

5. B

NFREIATHE . BENE S BN, BBk rp 3 3 0 8 1 A0 02 mT DL 48 S BRI 2 AR 38 TR
el Y e SN

5.1.3 SRikRgHEE

10 FRHER L X EZA 5 F . ARET R R N-S B O SRR P s
. ARETERATAEEHNET 0T LOR b S0 3305, e kiR 5 . AR H it
AT R TTE T AR R S48 R E 1 R A5 5 Sk i 38 55 1% s N-S BR —Fh o & L f i A2
J7 ) 2 0 OB AR 75 s DA AR B A T H SRR 5 MR P 0B 5 Z 8 09 SCFE RIAE 5
AR T BT BB TR TR 08 ORI R SR L R T AR TS L LB AT .
2640 . SRAH 142410000 BB EHR,
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Sy AT . SR 142+ +10000 S5 B — 07 20 I AR i, LR Oy . Sk 1
Jn 2, A58 E5 R 3L BN 3,453 6, Db e AR BIE5R

ARG A ok I A8 2 d5 0 1 B o PR 15 T AR R v 30 B0 b e R R I, D

14+10000=10001;

2+9999=10001;

3+9998=10001;

FAN 5000 ¥, 15 I AE

1. BRIEEHRE X

FRE & R 5 SRR 1 25 A0 B KR AR /Y A AR IE & U7 B 5
Fib ok, HHRE T RSB R SR8 R 5 1, 258 B R D SRR = T AT
B L35 O 25 5 B . R A SRR A B T I 2 R IR SR A A O FLAR A AL R A
Z 0 AR AT 2 ETE M T .

I J AR 2 1) AR S R AR

Bl BARRIRAIE K 0 RIESS S, 1 %

24 SHMEMAFE] 1+2+ 3R

93 BRERHFEEAL : B3 1, LA 1 nE] 10000 1945
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HREMMEN BREFTHEBWT .,

W1, R K 1410000 BRAEZS S,10000/2 MRAE 45 7
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1 58 R P 2 A — 4L RB A5 5 R B4R M SO F i R i b Bk L% 5.1,
i A P 8 AR B T DA e AR T R B B S5 AR R I O s TR o Y =
Toft o A TR 00 R 435 0 DT 435 ) 0 3% % g 140 B 235 0 ) 10 T L P 97 P R WO b 3 3K o ok
B4R L AR N2 0 A e i AR AN 5.2 i .

*51 REEREAEEHFS
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] st e OO 6 45 T A PRI SR
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e £ W & X
<> HIWHE R e 07 R 0
O I B A 1o 2 1 A B A 6 A
| — St 2 B B 7 1

3.N-SSmRREEREREE

ARAR U R T 3 ) B3 4% BV AT LB AR T 1 {EL i Tl R R A A B v i it A I
I T 2R AL 22, 2 T R e AR . PR A PR A 36 B 4 3 1. Nassi Al B.Shneiderman #2 i}
T FoE A Fe s AR Uy [n) 2 1Y RDE A 38 O 2 RO N-S B (N BEIR Y & F R B
N-S wifE B se 4 Je b iR FR Lk ] — N AR TR AE SR 3R — A3k AR HE N W] DAL & 4 T A
J& T B /NI AE T3 I b e 3k 45 A8 Ak 0% 8 v i ok JEUARL U AR I i i N-S g R AT A

Kl 5.3 s,
( Fm )

§=0, i=1

S=5+i

=it

i<10000
S

P 5.2 U AR B 14 1 g T A PR P 5.3 MU AR 19 N-S Ui AR

4. HREEHRE %

P ACHS 2 A S AT 30 04 F AR 5 Bk v . R 7 BT H Il A 90 A 4 1 45 A o 3
7 A B TR PAT R RE A5 3, SRR SR A i AT 5 R R i R AT 1) 4% b ik B R 9 K
MRUE . RN TP RITES M A RIES Z B0 — MR T . X R A RL
PE R RS A B IR OU AR 3 3K 18 8 45 4 FG 35 45 A4 1) | () i o 58 A7 1)
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TRL GRS AR . OV IURE B AT [ 72 ™ M BT8R MU, ] LA 9 3T, o m]
PUH o SC, B 5 5 e b L m iR 5 . U Ak i O AURS SR anF

S=0;

for(i=1; 1<X10000; i++)
S=S+1;

End

Output: S

B for AR BARET PH—FRBREN HIMETALHAT R L, ER L,
AT P R AR IRAR B2 M AR B b for #3R, Output A S, PR FIMAFT R RGH B LR A
LA S #91A,

5. BEFRITiIEE MR E X

R A AR R P BT E R R (AR B L IR E L BT, RP iR
B E MR R BRARRIE . TCIR R Fh 5 3 3 R 5500 #0022 18 0T 5 (o b %
B EHAER . i TAS TR UHE Python 4 2, [N M AE L ] Python i 55 3 1 i 1% i
JE AR RPN R .

S=0
for 1 in range(10001) :
S=S+1
print(S)
7 EX=: for7 in range & Python ¥ A %k for #A2R#& F 49 ,range () 1 4 7T 4) 3 — A &3¢
# 3,42 range(10) F £ 8K 3 4 0.1,2.3.4.5.6.7.8.9, print() KA T B
R,

5.1.4 FENER

1. ERRE MR A

D IE#

(1) X4 A B0 R A5 A5 i R 2R 25 1 .

(2) XF—VI& B A ER AT LU BIAF & SR 1 #

2) n

(D B FEZENT AN RS 0, kA 2 i AL AT .

(2) S ey op, DR P 5 4 o 2 ] 0 i TR 7 ik

3) fath

S B AP, AR RO SR DR IR AE 45 R RN TN S T TR AT
IR 7] 7S B R BT (R (L, DAGSE AR ) i AT A 3

4) R

(D BAREA ZANEEAE BNEEHTE RS,
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(2) TERIEZ S IER T4 T, JoR ki,

2. EEHENEER

S g N RIS P BT - | Rl ST AR S o £ 2 NI e W 2 O (B R AR/ b
A SRV R BB R G TR A 2 i R e s v L L v e T A R R e A o R B[R] 52 2% R R 2 ]
=R

1) W} B & 44 B

I [F) 42 2% B R il R B vR A AT IR R B — bR o, IR R 2 B RS R O Fow,
O 1 7 2 220 S5 B0 LA N 257, A3 2 3 A7 e ) R Ak ol — S B . R AR 2%
JE B R R AT LR R

(1) FBATH 8 R B4 idh O,

(2) BT E R B J By BT L i 28, g7 A T (n) =
3nd +an® 5, MEEEZLE N O®),

2) FHELRE

25 (] 2 2% 3 2 i R B4k 45 1) AR 8 — Ak o B 90 A 38 A7 o R v e 5 o P A A
ZSRIR/NECGR K., R REWAHKRE F O Rk, 25 RE 2B 9 RN
A LT RN,

(1) A5 R M AE A 23 0] KON A A RIB A R B 44 3kie h O,

(2) FHE BB 2 ) R — ARG g 8 . IF B4 G K/NRE AL n BIE
FLE, 22 ek OGo)

(3) FHEDLA B2 AR —A i 50 RS Cn 4851 30)  IF B G B9 B | 98 B2 Al
i AFRE n BE HB L 2RI O (),

BRI I s ) A s V) O 2% BB R A RS R 1 . AR 22 B TR A G A AT A
U BT — AN TR LA 2 R ) 45 S B L W AR R | Ak BRSO Y RN e AR
HE WRHE BRSBTS RS R A R B e Ak

5.2 BRZHBEZE

5.2.1 325k

G5 AR SURRG 2 0 RO 9 ) W Ak 2 — Tl TR AL T T 932 00 A e 1) A 1 7 3
R T B IO R (R

: SRR BN T

(1) AR 30 i T L VA 195 0 i 95 2 J T 2028 ot D)

(2) AR 170 FE L 95 26 0 3P .

(3) AR A 0 Ay LA SR o 245 4

() TS5 2B IIE 1T K 3BT 45 AT AT 518
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W o 7 FH 55 245 30 SR A B o o AR AT ] B F ELAAR IR 5 2 BT A 4, -
$R I 1 A LA R 17 95 2808 B8 L DAk 55 28 SR I
FFA BRI 5.4 PR,
55 2% B 1%y U S50 BV R S R ), R AR
HENA 100 T, 3K 100 HXG, A% 5501 H, 538 3

g1 LN 158 3 B [l Al KB A3 BEXS /NS & £
PR

fife U ARG X LR Y HL /NS Z H I .
X+Y+Z=100
5X +3Y+Z/3=100
LA A2 XY Z MBUEIERE T .
0<< X < 100/5
0<<Y <100/3 (5.2)
Z=100—X —Y

(5.1)

N, 0 HAERY 100 BN,
g

p& tx% 99 H/NAY,
XY, 2 HEEXS, 98 H/NAG

T ERCE A 55 25 R Python i8S 95 40°F -

for x in range (0, 21):

MG ERR 20

for y in range (0, 34) : # RS FRR 34

z =100 -x -y;

#RIA NG

if ((z $3==0) and (x * 5+y * 3 +z /3 ==100)):

print (“AX: {0

PR BERE (1Y L, N (23 A7 format (x, v, 2))

(X FERY (R E 1

>>> %Run bgmbj.py

M08, Bg:250, /875
NE.a8, B35:180,/38:780
AE:8H, Bg:118, /18811
ANg:128, B38:48,h78:848

5.2.2 BUDHE

FOLTEIE  XOPR ATk SR AR 00 A R A g — i%‘ﬁ%l_ﬁilﬁuﬁﬂéfﬂéﬁ fik

SEMLEE P o (A ) AL S —

AT XA A TR T AR SR A A B — 2D AR R

BB IR . ST I RO N BT A AT BE A R 1] R B D7 TR T LR ARE E:—if%ﬁﬁh
PRAUEZR AT o 5 f5c (0 A o (EL by 0 7™ A 9 Bre 28 M A — i R & R de 0 . T8 0 S BB AR 1) &2 JR) A
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o, OB RMT .,
(1) F 7 B2 A TR R i 3R [R) R
(2) HE K i 0 [ {253 A T IP) R
(3) X EEAS - [a] UK A A5 21 [l 851 1% Jeg 38 foe OO0 i
(4) 8~ [5] L1 Jmg 38 e A A B M Do Of i) AL 1) — > 4 Je) i
LE LR EWE 5.5 Prs,

HEAHTF (A
B ILAE

IR BT F I
Bl . B
B i
BB F—1 e
F i =

5.5 TR A

B SR 1 LY S {5 B A ) R, R R AR
A, WaRRERE M=150, £5.2 FiaA 795 9507 Lo # T &K
o EORRATREIEE AT S YR BN E v K AAREEL A E w,
*52 HTEVRESETMESE
& A B C D E F G
Hig 35 30 60 50 40 10 25
e 10 40 30 50 35 40 30

B0 B0 O il DA ) L 3 B AE — R R w N RV o B, B PR
AL A A LG L B BN L o /o M N R BN SR Pk L B S o A S IR
UL I A — %2 BEAT 2 22 Jm de 0 e o i 5 AR 30 52 P i 0 R (T

A BT 0 B R A% 15 AL B LY Python B FFANE

# 7 b M, ROCALB R A T (id, weight, value)
some _goods = [

('A', 35,10),

('B', 30, 40),

('c', 60, 30),
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#IF g

capacity =150

40 S A A Y R

sorted goods =sorted(some_goods, key=lambda x: x[2] / x[1], reverse=True)

FEERER AT A
selected goods =[]
for id, weight, value in sorted goods:
if weight <=capacity:
selected goods.append((id, weight, value))
capacity —=weight

# FTENSE R
for id, weight, value in selected goods:
print ("WIMGS (), AT & (), WMAWMNE: (), BANEEN: {:.2f}". format

(id, weight, value, value / weight))

REFFIs AT e AR T

>»> %Run goods2.py

WMRES:B, MAEZEE:30, WALNM{E:40, BANMEEN:1.33
WMEES:6, MAEE:25, HMANN{E:30, BAMEEN:1.20
e S:D, WASZE:50, HWANGE:50, BAEEN:1.00
YRES:E, MAEE:40, WAYINE:35, BAUMAEEN:0.88

5.2.3 BHETRE

— A I ) SR A — RGN TR 7R % R R BT 5K TR) A [R] S 7R R S G
HRAYOCZ . THIIS, ] LR 2 F 5 4 B 22 18] 5 80k 5 28 CEd D | Bt RE L A2 2% ] i
1] B g AR 0 i A AT B A B R T LR A A HE A R

325 AHE B0 1) B ) AU 4 AR A0 Y B O IR 19 0 AR (BB A5G 22D o B AT T
ST T A SRR, U — A 52 2% 1] el %) SR e o ik pl 17 i 2 A 7 T LB B

LR (R RFNIUPIZE: S/(1 I

(1) B 7 3 i 78 B« 07 3 4 0 3 A ple ) AL, AR 016 1R R ) 552 P 1 00 3o e

15t
il

(2) FESLIBIESC AR« SO A AR W o] DA A A AT — SRR TR — AN, SO
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9 — LR HE b — MR 2 QGO R ) o 3 4 5C 28 2 228 HE 1) A H0 . 2 Ak e 128 )
(3) B E RN GUFD A 0F X B fl 5 9 3 9 728 o, ZE AR 30 7] A1 A g 5075 T 114 30 Al
JE 1B FE 7 B W) U6 G B B 3 J2 18 9 ) Rl
(4) Xf b el R gEAT 40 b BN RE AR L b B A AT R . i REAE AT 4
I i 45 TR0 AT R AR5 R 2 A 5 88 4P B 3k 6 A R [

1B SR B TR AN 5.6 BT .
32 41 B3 11 L R0 S 4] RS 5 B [ R SR IR

JEMERE A — 1) — X B R TSR S . MG A

WA A LG, & 74— — X8 . iR i WG GRS
A A G F T 2R T il
3o 0 O R AR B A G R L AN H BT B L
/{1 AL R
1H: 2
202
4A:6
5H: 10 &
...... e
AR b RBCE M T L T RS A A R T A S A Gl
A EEDNABNRFDIEN LR W fGo=Ff(n—1)+ =
f=2) o fGORRH n AW RTH. XA T .
R R, i
T A3 A [ B T L 42 B LR A5 SR AT P 5.6 40k R
(D WA A 750k . BB G S T8ty 2 (RIS
— X BT RV T

(2) M o ) 90 R . ff o S A 0 03 9 R RV 8 T 22 B S A 1 T

() WHEBAHA MR RIERERA, BN A MR FEE= LA T
B+ EEMAMRTEE fG=fG—D+f(r—2),

(D F a5 fbh A A R,

XN ) Python B2 % 4 5 40F .

£=[2] #W¥HRLRFEE
months =12 # i & A 6] Y1 [l

R AR T EE
for 1 in range(1l, months) :
if 1 <2:

f.append(f[0]) #8I = H K57 H0 4 TG % T Bkt



